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Vector or Cross Product Ex 25.1 Q1

If = ala'ﬁ+ bljﬁ+clkn and

b= &2; +b2} +cz.f2, then

&
=1

i
-
b =3

2

Or 4
b4
L

MU' o

=

]
—

[ R 5
1o
M2

< B| - o)+ (-1)7 + (3)°

53 - a1

Vector or Cross Product Ex 25.1 Q2(i)

If 3= alf +.L‘|1_JT +c1£ and
b= azf+b2} +cz.f<ﬂJ then

i7 ok
a b oo
2 by o3

o4
b4
I
]

i
= O A

=if4-0)-j{3-0)+k(3-4)
=4 —z3j -k

[BxB| = () + (-3) + (-1)*

=fl6+9+1

xB|- v25
Vector or Cross Product Ex 25.1 Q2(ii)
If 3= af +b,] +0k and

b= a4 +boj +c,E, then

i
axb=[2
1

=i{o-1)-jfz-1)+k(z-0)
=_.l'ﬂ—j+2.£ %
BE|- Jo1 + (-0 42 ‘\’\\O (b

e Q
*
. N
Magnitude of 3x5 = 6. &Q
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—

A vector perpendicular to both Zand b = axb.

mm Wondershare

c=i{z-3)-j[-8+6)+k{4-2)
E:—f+2}+2.f2

-+

< is a vector perpendicular to both z and b.

|l');

K

—f+2}'+2£

N
-+ 2} + 2k

N+ 4+ 4

{—f+2f+2£}

|~

. . - = 1 =+ = ﬂ
So, unit vector perpendicular to both 3 and & = E{—a +27+2k].

Vector or Cross Product Ex 25.1 Q3(ii)
& vector perpendicular to the plane containing the vector Zand b is given by

3xb=d4t (Say)

[ B
axb=3, b o
32 by oo
Pk
c=l2 11
121
c=i{1-2)-j{2-1)+&f4-1)
= -]+3k
. C
C= =
L

_ d-jes \> -
JP ) (o) b N\
i %

-3k

et b S
R
- (-] %\(b %.

Unit vectar perpendicular to the plane of Zandb= ii[—f i+ 3ty ¢ O
" NZ
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=if-4-3)-j(0-3)+k(0-4)
=7 43 -4

|5x5|= {-7) + (3)° + {-4)°
- J3gro+ 16
[BxB|= 474

Vector or Cross Product Ex 25.1 Q5

=)

2

-2
N3

and, 2 = 4?+3j++‘2

If 3= alf+blf+clﬁ2 and
5=azf+b2j+czf2,
Pk
axb=al bl oy
3z b2 Gz
i3k
oo |2 4
Zhxa=|— 0 -—
EE
4 3 1
= 12 = 2 16 s 6
=i 0+=|-i|—=+—F +k[——DJ
[ 5] [5 JEJ 5
o 12- 18- 6
Phwa= "2 -]+ ——k
EEE
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5+25={3?—j—2£}+2{2?+3j’+£)

=3 - i-26+4 +6)+2E
3+2b =7 +5}

25—5=2{3?—j—2£}—{2f+3j+ﬁ2}

=6 -2j-ak-2-3]-£

4 - 5] -5k

we know that if 3 = af +bj+ck and b= a4 +byj +cf then,

ik
axb=\|a3 b o

3z b2 Cp
Therefore,

[k
(5+2B}x(2§—5}= 7 5 0
4 -5 _E

f{-28-0)- j(-35-0)+& [-35-20)

-25 +35] - 55k

[3+2B} x[z'a'- B} = -25 +35] - 55K

Vector or Cross Product Ex 25.1 Q7(i)
Let, a=2+3]+65, b=3 -6 +2£

If 2= alf+ b1j+c1£ and

b= &2'? +b2}' +c2£, then,

3
Fxb= 3, b o
ba

=
[N
[ = =

=/ {6+36) - J{4-18)+ & (-12- 5)
427 +14f - 21k

- ?{6f+2}'—3.f2}
EREE ?J(af +(2)° + [-3)°
=756 +4+9
|- 745
|5><5|= Vw7

|5><B|= 49
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Yector perpendicular to Zand b

—

mm Wondershare

with magnitude 1 = =
|a><b|

1 T T o
= E{?[@ +2j - Sk})
1) = - -
=6 +2) - 3K
i 2 -5
vector of magnitude 49, which is perpendicular to 2and b

N ER:
5]

- 49{%{5?%}—3#2”

= 42( +14] - 21£

The required vectar = 42 + 14jﬂ— 21k
Vector or Cross Product Ex 25.1 Q7(iii)

If 3= alf+ bljn+cl.f<ﬁ and
b= ad +hy]+ CZJE, then,
A
Fxh= 2, B O

9z by Oy

(Lo I
1
S

=i f{-2+20)- j(-6+24)+&[15-8)

=18 —18) + 94
=9{2?-2j’+£)
[BxB|= o4f2? + (-2) + (1)
=9J4+4+1
|5><5|=9J§
|5><5|= Qw3

|;-'x5|= 27
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ector perpendicular to the vector
df- 2%
xb‘

= T

=E[9(2F-2j+£))
=%{2f—2}'+£}

vectar with length 3 and which is perpendicular to both 3 and b

IR
2|
- 3[%{2?—2j+£”

=2 -2 +k

Required vectar = 2/ - 27 + &

Vector or Cross Product Ex 25.1 Q8(i)
Herge, 5 =2f+ D.} + D.kn
B=0J+3]+0&,

O,

j
by o
S by ©

LR Y
0 O

=/{o-0)-j{o-o)+&(6-0)
- 6k

area of parallelogram = FXB‘ .
Vector or Cross Product Ex 25.1 Q8(ii)

- ‘Df+D.j+E~.f2‘ DO
Let, =2/ + j +3k
F] z z B=i-j
()" + (0} + (5}

Pgok

#rea of parallelogram = 6 sg.unit Zubh=lz. B
il e

3z by o2

[

= 1 3

1 -10 @

O WO
=ifo+3)-F{0-N+kf-2-1) 6 \}
=3 +3] -3k

’b
“aff+i-4) 6 Q&
#rea of parallelogram = @\ %’

3 -

)

B 3@(0

#rea of parallelo ?sk-%fa_ sg.unit
,QQ
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Vector or Cross Product Ex 25.1 Q8(iii)
Let, 3= 3 +j- 2k
B=i-3j+ak

1 .3 i

=7 4-8)-j(te+2)+k(-9-1)
=-27-14f -10K
=—2{ f+?j+5£}

Area of parallelogram = |;x5|
-2 {2+ (7 + 5

=24 1+49+ 25
=21,1%
=10y 3

Area of parallelogram =10..1'?_ sg.unit

Vector or Cross Product Ex 25.1 Q8(iv)

Let, 3=/ -3} +&
Baiiek

ik

5x5=a1 b o

32 by G

I

=t -3 1

1 1

=i -n)-f{i-1)+k(1+3)
= -0 Ak

area of parallelogram = Fx5|

- e o e

- 670718 ‘ES;> O

N

-4 %
B g

area of paralelogram = 4442 sq.unit
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Vector or Cross Product Ex 25.1 Q9(i)

p [ —
Area of parallelogram = §|d1 xd2|

Here, @, = 4«""—}'—3!2
Gy =-2F +] -2k

D7k
dyxdy=|4 -1 -3
2 1 -2

=i{z+3)-j{-8-B)+k(a-2)
=5 +14] +2K

i) = (e)” + 1) + (2)°

=q25+196 +4

=~225

=15

area of parallelogram = %|c_"1' xc‘72'|
15 .
Area of parallelogram = = sg.unit

Vector or Cross Product Ex 25.1 Q9(ii)

Given, oy = o + &

d2=f+f+#<n
Pik

diwdg=f2 0 1
111

=ifo-1-jfz-1+&(2-0)
--f-j+2k

A1 x| = J- 1) + (1) + 2)°
- fviea
-

4rea of parallelogram = %|c"_1. xo_'2.|

1 .
4rea of parallelogram = E\lfﬁ_sq.umt
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Vector or Cross Product Ex 25.1 Q9(iii)
Given, ¢, = 3 +4]
dp = i jﬁ +k

—  —

T k£
dxdy=[2 4 0
111

=i{4-0)-j{z-0)+k([3-4)

-4 - 3] -k

EARENE ((4)2 +{-3)% +(-1)°

=fle+9+1
- e

Area of parallelogram = %‘51. ch?_"

26

Area of paralelogram = — sq.unit

Vector or Cross Product Ex 25.1 Q9(iv)

Here, dy = 2?+3}+6+‘<ﬁ
He =3 -6 +26

|
=]
[ =

=i f6+36)- j{4-18)+&[-12- 9)
=42 +14] - 21K

=?{5?+2j—3£)

i x| = 7(6)’ + (2)7 + (-a)°

=736 +4+9

= 745

=7 x7

= 49

Area of parallelogram = %l&T{ x-:Tz|

49 )
Area of parallelogram = - sg.unit
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—
&

=—3f+4f+£,
Y

o

i
axh=|2
-3

B
|
iy

=7{s+28)-j(2-21)+ k(2 +15)
=33 +19; +23%

R
[5x5]x5=33 19 23
1 -2 -3

=/ {-57+46)- J{-99-23)+ £ [-66-19)
[3x8)xc = -1 +122] - sk

! ik
bxc=1]3 4 1
1 -2 -3

=ffr1ze2)-fo-1)+k(6-4)

=10 -8} +2£

roJ
5x{5x5)= iD 58

=i f10+56)- j(4-70)+ & {-16 + 50)
ax[bxc)= 660 +66] +36K

From equation (i} and (i)

3x(Bxd) » (3xB) <3

Bs://millionstar.godaddysites.com/
ctor or Cross Product Ex 25.1 Q1

en, a=2f +5] - 7£,
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Vector or Cross Product Ex 25.1 Q11
We know that, if & be the angle between = and b, then,

axb= |a|.|b|.sin8.ﬁ

5w
‘axb| = |aHb‘.|5inS|.|ﬁ|

g8=2.5sin6.1 [Asﬁisaunit vectar]
Sing = i

10
sing = 4

g

REC) O O
16 \
ot Q)&} N
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Given, x= %{2f+3f+5}2)
5:%(3?—5}4&)
E:%(shz]-ai’,
axb=2x

1o 1L
777

©
@

3
2
B

-3

:%[;(6+36)7f(4718)+12(71279):|

:4_;[42?»,14]-2112}
7(5f+2j73£)

e

%(ﬁhzjfai)

1 < A

:E[F (1874)7](79712)+/<(E\+36)]
L e

=E[14< +21;+42k}

77(2f+3j+m€)

ExS:%[f{mw)ﬁ(ama)%(1&—4)1

= %[2111 42]+ 14#5]

7(3f75}+212)

!

=%laffsj+2£)
Ex3=b - - (i)

From ), (i), and i},
Gxb=C
Buio3hofa)
Ex3=F

Fl- i+ G+ o
SlEmTE
%m

Bl-1 - (iv)

Bl-3

Lo rtor ey

Bl-1 ---(v)

Bl 2oy + o v (o7
- %35 440

)5\ -1 - {vi)
From equstion [iv),{v),[vi),
H-Fl- - -

From (&) and(B), we can say that

£ e *
a,b,¢ is a right handed orthoganal system of unit vectors E 0 &\
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Vector or Cross Product Ex 25.1 Q13

We know that, if 8 is angle between 3 and 5,

ab = |3|Hc056'
60 = 13.5.cosé@
cosd = %

12
cosd =—
13

sifé=1-ms’s

king| = %
We know that,
3xb= |5|.|5|. sin 8.

Fr><5| - |3|.!5|.|sm9|.|ﬁ|

- 13.5.i.1 [Sinca, fiis aunit uacbnr]
i3

|$><5|-25

Vector or Cross Product Ex 25.1 Q14

We know that, if & be the angle between a-and 5, then

§.B=|3| |5|0359 ---i)
and, axb = |§| |B|.sin.5'.ﬁ
BB Bl | fsnel o

= |§| |5||sin 9.1 [Sim::e, Ais aunit vector]

B <E|- | Blsine - - (i)

Given that, |3 x5| - @h

|5| E|5in8 = |§|.|5|c058
sing = cos &
&=

ke
4

Angle between zandb =

ENE

Remove Watermark
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r or Cross Product Ex 25.1 Q15

we,

¥ [since, {5 x3) - -{Fx3)]

[Using distributive property]
We know that, if 5 xg = 6, then wvector 5 is parallel to vector 5
Thus, [54-5} is parallel to b

{54—5] = mb

Wwhere m is any scalar

Vector or Cross Product Ex 25.1 Q16
We know that,

axh= |a| |b|5in9 I
|axb‘= ‘a‘ |b‘ |sin 8] |ﬁ|

= |§| |5||5in6'|.1 [as Ais aunit \.fec:tor]

5|~ | B|lin]

(317 +(2)° +(6)° =2.7 |sin g

JO+4+36 =14 |sing|

Remove Watermark

V49 =14 ]sing|
sing = L
14
sing = 1
2
8 =sin! (EJ
2
Vector or Cross Product Ex 25.1 Q17
T
g=21 . e o
] Given that axb =10
sngle between 2 and b= 2 This gives us four conclusions about 3 and b

{iii}3=5=a or

fiv) Z is parallel to &,

Alzo, it iz given that ab=0

This also gives us four canclusions about 3 and b,

{i) 5=0
(i)
{iy
tiv)

MOow,

g parallel b and a i

So,

=0

=
L

‘6\(\

mm Wondershare

PDFelement

ular t@nre not possible simultaneausly.
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Given that 5, 5,-_:, are three unit vectors such that

mm Wondershare
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Remove Watermark g

- - - - =

axh=c, bxc=3 Ccxa=h,

axb=c

= ¢ is a vector perpendicular to both 3 and & ---{i)

Exc=3

= 3 is a vectar perpendicular to b and © - - - ii)
Cwd=b

= b is a vector perpendicular to 2 and ¢ - - - {iii}

Using (i), [ii] and (i), we can see that 3, b,¢ are mutually perpendicular unit vectars,

. 44
Since, axh=c

Therefare,

5, B,E form an orthonormal right handed traid of unit vectors.
Vector or Cross Product Ex 25.1 Q19
Here, Position vector of 4 = {3; —jn+ 2!2)

Position vector of 8 = {aﬂ - } - 3.52}

Position vector of C = {4—.'? -3] +£}

AE=E-A
= {7 - 5 - 3k)- o - T+ 2£)
= - j-3k -3 +j-ok
= -2/ -5k

Ac=C-4

[4+‘"—3}+£}—{3?—}'+2£)
=4l —3j+ k-3 +j-2k
=i-2j-k&

Yector perpendicular to the plane ABC

A
~ACxAB=[1 -2 -1
2 0 -5

ACxAB =i f10-0)- j{-5-2)+&(0-4)
=107 +7] - 4k

[AC x @8] = (o) + (7)" + (-4)°

= /100 + 49 + 16
= /165
: ; AC x AB
Therefore, unit vector perpendicular to the plane ABC = _,—x_.
[ac < A8|
1 - 2 -
=—(1IZ|.l +_.'"J"—4\f<l
165

Unit vector perpendicular to the plane AEC = %{10? +?j - 442)
165
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Here, It is given that

mm Wondershare

PDFelement

In 248 C

BC +CA+ AB

=BA+AB

=BA-B4 [Since, BA - —EB.]
=0

Given that, |B_C.| =3

|a|=b
|ﬁ|=c

= EC+CA=-4E
e
= EC+CA=EA
= a+h=-c
= a+bh+c=0
= ax{a+b+c)=axﬂ
44 4 o 4w
= dxd+axb+anxc=0
= D+axb+axc=0 [Since,axe.':DJ
= ax.b:—[axc)
= gxb=cxa -- =

Again, 2+B+6=10

= Bxf5+B+3)-Bxd

=  bxa+bxb+hxc=10

= BExa+0+8xc=0 [Since, Bx5=ﬁJ
= BExd+bxe=1

= Bxé--{Bx3

= Bxc=axh - - i}

From equation (i} and fii}, we get

axb=hbxc=cxa

= |ax.b|=|b><c

EREEl
= |5| |B|sin{ﬂ—c:]=|5 Fsin{ﬂ—ﬂ)=5 3|sin{ﬂ—3}

= absinC = bcsind =casing 0 .\Q
e

Dividing by abc

sinC  sinA _ sing

c = b ‘ Q KQ
A siﬁB ’\\\O ®®

- absinC _ bcsinA _ casing @
abc ahc abc \ %,
: S
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Here, 5=f—2}+3.f2 and b = 2f+3}—5ﬁ2,

mm Wondershare

TS

>

[n )

1}
[T
[
NU' L
Nﬁ Y-

b
Ly

1}
[
[}
ra

=/ {10-9)- j{-5-6)+&k(3+4)
=0 +11] + 7k

Now, 'a'.['a’xB): (?—2}+3£).{?+11}+?£)

a.[axb] = ()1} + (-2) 1) + (3)(7)

=1-22+Z21
=R22-22
gx{é.xs):D

Dot product of 3 and 3xb is zero, then,

ais perpendicular to {5 xB}

Vector or Cross Product Ex 25.1 Q22

Given ,5 and a be unit vector with angle 30° between then
Pl=fel- 2

5 G = [p| flsin a0

(g

Ex5|= % ---{9 [Sinc& A is aunit uector]

Area of parallelogram = %|’5x 5|
- 5[fF +23) (25 +3)
- LB 2 + B x4 2528 +23 x4
- Lf+Bxie2ixzp] [since, 723 = 8 and 23 xG = 8] S
-3 i+ 4fis) €>\> &
- LFsd)-3) .
&

=§x% [Using (I:]] . OQ KQ

3 .
Area of parallelogram = — sq. unit * Q
p q 7 q \
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Vector or Cross Product Ex 25.1 Q23
We know that
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3 xE - [ [|-sinea
55| || sine.p
= E|E|sin9.1 [Since, A s unit vector]
5 <E| = FE[sine
Squaring both the sides,

- 22 =R R 2
|a><.b| =|a| |b| sin© &
|2 42 2
= |a| |.b| {1—::05 .9}
22 22 2
=E['E - [Bf cos”e

-2 (2 - 2
- El Pl - (flBleos)

- (A ) - 35) [since, | B|cose = 35
B<E[ = (33 {55) - (35) (53] [since, (25) - (53]
Bupf- 2 32

s s

Vector or Cross Product Ex 25.1 Q24
Define of 3 x5 - Let 3, 5 he two non-zera, non-parallel vectors., Then 3 xB, in that

order, is defined as a vector whose magnitude is |§| |5|sin8, where & is the angle between

2 and b and whosa direction is perpendicular to the plane of 2 and b and this constitute a
right handed system.

axh= |a| |b|5in6'.ﬁ

VWhere /i is a unit vector perpendicular to the plane of 3 and b such that ;,B,ﬁ form aright
handed system.

O,
axh= |a| |b|5in.9 I
|a><b| = |a| |b||5in6'| |ﬁ|

= |§| |E||5in.9|.1

52| - [ Bl sinel

1

)

ab .
= .sing {Smce, cosg =

osé =

gt

|§x5|=§.5.tan6‘
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3xb= |3| |E|sm.9.ﬁ

mm Wondershare
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55| = [ Bl ine |

35 = 26.7 [sing|.1

sing = 35
26.7
) 5
SN = =
26

5.5 = |3| |5|cos.9
1
=420.7 —
A

ab=7
Vector or Cross Product Ex 25.1 Q26
Area of triangle = %@ x£|
Pk
\ﬁ'x@\= 3 B O
9 by O

1 2 3
-3 -2 1

=i f2+6)-7(1+9)+£ (-2 +8)
=8 -10] +4£

=2[4+‘"-5}+2k"}

Area of triangle = %@i x@|
[k e ]
=%[2 16+25+4] 60 ;\\'O
_ JAE 74) @)
=35 K% Q

X0
4rea of triangle = 3«]’5 Sq.unit %
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mm Wondershare

Letd =di+d,j+dk-

Since/is perpendicular to bothandf , we have:

d-i=0

= d, +4d, +2d, =0 (i)
And,

dbh=0

=3d,-2d,+7d, =0 .(ii)

also, it is given that:

éed=15
= 2d, ~d, +4d, =15 (i)

On solving iy, (i), and iy, we get:

d,:iég,d,z—éanddiz—zg
R T
160 5. T0- 1p s e -
nd=100 S5 M0 1i60i—si-70k
373073 3( 5] -70k)

Hence, the required vectaor isl[]ﬁ[}{_g}_m,{,).
3

Vector or Cross Product Ex 25.1 Q28
Given, 3=3 +2} + 28

b=i+2j-2k
Let, a=5+5
- (3 +2j + 2k) + [} +2] - 2]
d=a4i+4j-0&
and, e=a3-b
- [af +2j +2k)- [+ 2] - 2£)

B= 2 + 4k

Let,  be any vector perpendicular to both 4 and 2

[ R NS
O =

f

F=l4

2

=/ (16 -0)- J{16-0)+ & (0- g)
f=16/-16]- 8k
=8{2?-2}-£}

Let§ be the required vectar, then @

%'d:r ? d |- 1 | &"O Q
g_'.=8,!{2a—21—k) ---{) %\® %.
- NN
N4
a2y +(-2)" + {-1)7 - 1 @ \/®

BAJara+ri=1
BAJO =1

*
24q=1 \Q
1= _—

24
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a[i}{zf-zj-ﬁ?}

§=%{2f-2}-£)

Thus,

Unit vector perpendicular to {3 +B} and ‘5 - B} = %(Ef - 2}' - E}

Vector or Cross Product Ex 25.1 Q29
Given, A = [2,3,5)

&= (3,58)

Cc={2,78)

Pasition vector of A =27 + 3] + 4
Position vectar of & = 3/ + 5] + 8k

Fosition vector of € =27 + ?j +8E

AE = Pasition wector of & - Pasition wector of A
- {3?+5j+8£}—[2f+3}'+5£

=3 +5j+8k -2 3] -5k
AB =1 +2] +3k

AC = Position vector of ¢ - Position vector of A

2?+?j+8£}—{2?+3j’+5k”

= +7j 48k -2/ —3f -5k
AC = 4] + 3k

Area of triangle =

|

A xﬁ|

M| =

-

—_ —

ExAC =

NN I
L)L

g
0

=i{6-12)-j{3-0)+&(4-0)
AB xAC = -8B - 3] + 4k

|I5' xﬂ:'| = 61 + (-3)7 + (4)°

=436+9+16
=w,"61

w1 . e O
area of triangle = 5 Ja1 Sg. unit 0 \\'
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Letd =di+d,]+dk-

mm Wondershare

Since/is perpendicular to bothandf , we have:

d-i=0

=d, +4d, +2d, =0 (i)
And,

d-bh=0

=3d,-2d,+7d,=0 ..(ii)

Also, it is given that:

éod=15
= 2d, ~d, +4d, =15 -..(iii)

On solving {0y, (i), and (i), we get:

d,:ié?—,d,z—-s—anddiz—zg

3770 3 T3
- 160 - 51 70 - . - b
d==ri-3]- —(160:—51—70&}

Hence, the required vectaor isl[]ﬁ[}{_g}_mgﬁ}.
3

Vector or Cross Product Ex 25.1 Q31
a-b=0
Then,
(i) Either Efr| =UDr!5|:OJ ar & L1h (in case @ and b are nm'n-zem)
axbh=0
(i) Either |d| zggrib‘:GJ or @llb (in case a and b are n-::m—zem]
But, zand j cannot be perpendicular and parallel simultanecusly,
Hence, §5|=UDrEb|:0.

Vector or Cross Product Ex 25.1 Q32

Take any parallel non-zero vectors sa thataxE =0.

Letd=2i +3j+4k, b =4i +6 +8k.

Then,
3 * * 4
axb=2 3 4=7(24-24)-j(16-16)+k(12-12) =07 +0]+0k =0 .

It can now be observed that: K@ Q
la]=v2* +3* +4* =29 \@ %_
nd£0 %
151:\4'42+61+81=m . OQ
B0 N Q)(b
Hence, the converse of the given statement need not be true.

S

'
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Wwe have,

mm Wondershare

d=ai+a,j+ak, b=hi+bj+bk, é=ci+c,j+ek

(5+a}=(g +e, )i+ (b +e,) (b e )k

i j k
Now, dx (5+d] a, i, a,
h+e, byte, bite

*;{”z (by+cy)—a, (b “'C:}]_j{“l{b; +o)=ay (b +¢ ]]"'“:[“: (by+c,)—a b+ }]

=i[ab, +ae,—abh, —ae,]+ J [~ab, —ac, +ab +ac |+ k [ab, +ac, —ab —ac] ..(1)

ik
dxb=\ a a, a
b b b
=i[ab, ~ab )+ j[ba,~apb]+ "E[“lbz —ah ] (2)
A
axc=|a a, a
R A

=i[ae, —ae )+ jae —agc ) +k[ae, —ae]  (3)

Vector or Cross Product Ex 25.1 Q34
Giwen that
A=(LL2}

B=({215)
C=(Li5)
Position vector ef A=+ +1%
Postion vactor of B =2;+3}+5::
Position vector of C=:+j}+jf:
AE = Poation vector of B —Positioa wector of 4
=2i+3] +ii:—{;+‘:r+2}|
=§+2}+3§E
AC — Posi tion vectes of O —Pesition vestor of
—i+3j+3k=(i+j+ 2k
=474+ 3k
P.raau'[l:tianglﬂ=%

AB=4C]
i el
HExAC=1 2 3
4 3
=i(6-12)— F(3- O +k(3-0)
=—Gi-3j+4k
[T} S 737 %
—36+9+16 0 . O®
= J6T 6 (’;\'\

Area of the triargl =% 1 Sg.umit @

-
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=2i-4j+3k
=i-2j-3k

a
F

The unit vector parallel to one of its diagenalsis ﬂx_b ]
Fxb

i Tk
axb=p -4 3
1 2 3

=i(12+10) = F{~6-3)+k(-4+4)
=23 +11;
=11(2i+7)
|Fp<5|=1115=+12
=115
Thersfors
axp _11(2i+))
|?p< §| 11,5

Now

7 s
=—.(2i+]
:,':_-l{ .Fj
The unit vector parallel to one of its diagonalsis %{2}4_}'
Again, the area of the parallelogram is |E><3|=11\|"5_Sq.uuit
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